Calcul mental

34 96 061

23 | 86 H0L

17 | 43

18 | 91
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;/ 51-10=41 40 - 20 = 20 70 + 30 = 100 )
[ 61+10=71  50-11=39 50+50=100 ~ 20et34=28 \
I 75+10=85 20-1=19 20 + 80 = 100 detGu= I
| 99+10=109 30-3=27 87 + 13 =100 g:eti“:gi !
1  34-10=24 20 -5=15 Double 2 = 4 . thsu -_123 I
I 58 - 10 =48 20 + 6 = 26 double 4 =8 ¢ “: :
1 44 - 10 = 34 20-11=9 double 5 = 10 2c3d2u=232
| 1c4d1l1u=141
1 86 +10 =96 60 + 40 =100 double 6 =12 B :
| 41+20=61 double 7=14 ~ 1c5d2u=1527
| 35+30=65 double 8 =16 2¢c3d5u=235 1
| 40+41-81 double 9 = 18 :
I 100 - 10 = 90 I
\ 100 - 30=70 ,'
AN 6+11=17 /
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Calcul mental

352(130/137 /34| 96 | 61 |177/188/199|198
356(132| 41 30 /600/400| 23 | 86 [100| 1
359(148| 71 /50/235/200| 17 | 43 [232| 9
450/149| 85 |80 | 16 |222| 18 | 91 |123]| 26
4121122 65 |20| 14 (232 90 | 0 |444 144
456477181 113112 | 1 | 70| 2 |233/411
678/457/109| 4 | 8 | 10| 2 |278/144 1
20 | 39 | 19 |27 152| 15 |141/569| 2 | O
478124 148 | 2 | 1 | O 684|632|488|355
S aoa0 70+..=100 SN
21;13; gg-ig= 50 +.... = 100 zgztng
75 +10 = 20-1= 20 +...=100 4det3u;
99 + 10 = 30-3= 87+ ....=100 9detluy=
34 -10 = 20 -5= Double 2 = 1c2d3uy=
58 - 10 = 20+6= double 4 = 2¢3d2u-=
2?:;’3: oraes double 7 = lesdzu=
35+ 30 = double 8 = 2¢c3d5u=
40 + 41 = double 9 =

100 - 10=.....

100 - 30 =...

6+11=....
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